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PO pe3ybTaTH ONPAIIOBAHHS 3aMUTIB MO0 HaJaHHA MyOaiuHoi iHpopManii B palOHHIX IepKaBHUX aMiHICTpalisiX IpoTAroM civas-depBHs 2017 poky
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1 |BepasiHcbka 22 8 14 18 4 21 1 1
2  |BiabManbka 16 5 11 8 6 2 16
3 |BacuaiBcbKa 12 2 10 8 2 2 10 2 2 2
4 |Beamko0ino3epcbka 12 1 11 7 4 1 12
5 |BecemiBchbKka 8 1 7 4 2 2 8
6 |BiibHSHCBKA 48 39 9 42 3 3 44 4 1
7 |Iyasiiniabebka 12 6 6 9 1 2 11 1 1
8 |3amopisbka 9 2 7 7 1 1 9
9 |K-/IninpoBcbka 15 5 110 11 1 3 | 15
10 |MeaiTomoabchbka 34 4 30 29 2 3 26
11 |MuxaiigiBcbKa 12 1 11 9 3 11 1 1
12 |HoBomukoJaiBchbKa 9 3 6 3 5 1 7 2
13 |OpixiBcbka 11 2 9 6 3 2 11
14 |IoaoriBcbKa 11 2 9 8 3 11
15 |Ilpua3oBcbka 12 5 7 5 4 3 11 1 1 1
16 [[pumopchka 11 3 8 4 6 1 11
17 |Po3iBcbka 13 2 11 7 3 3 13
18 |Toxkmaubka 11 2 9 6 2 3 10 1 1 1
19 |YepHiriBcbka 6 3 3 3 2 1 5 1 1
20 [SIkumiBcbKa 12 7 5 8 2 2 12
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